< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

o
[N

o
N

..............................

.............................

A |

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1

o
[N

o
N

PR

-

.............

.............

Al

0

1

2 3

TP n (PCA to beamline)

CMSSW_CKT

RECO

[—s— DQM_VOUUUI_RUU0U0000T _Global —CRT_]

—e— DQM_V0001_R000000001__Global__CMSSW_mkFitOriginal__ RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkFitLowPtQuad__RECO
CMSSW_mkFitLowPtTriplet _ RECO

—— DOQM_V0001_R000000001__Global

100r

®
o
I

o
=]
I

N
o
I

20 b

...............

L4

4 i

-1

0 1 2 3
TP n (PCA to beamline)

.............

...............

0 1 23
TP n (PCA to beamline)

—~

100

.............

.............

.............

O r————
=ty

1

2 3

TP n (PCA to beamline)



	Contents
	Page 1


